SSC CGL/CHSL TIER 2 (CRASH COURSE)

Find equwalent discount of three successive
discount of 1 6— %,

14— %,20%7?

m@w T L ?
" (14 %. |

(2) 422 %,

(3) 25%
(4) 12.5%




SSC CGL/CHSL TIER 2 (CRASH COURSE)

A and B together do a job in 15 days and A alone could
do the same job in 20 days. How many days would B take
to do half the job if he worked alone?

A 3T B TF AT 15 AT H§ TS FTH FIQ @ < A 3ther 20
AT § qHTT FTH L GHAT . K B THA FH FLar18 ar B
T ST HTH FLA | fhaer foae e (1) 60

[ (2)30
(3) 45
(4) 40




SSC CGL/CHSL TIER 2 (CRASH COURSE)
A shopkeeper marks up his wares by 60% and offers 10%

discount. What will be the selling price (in Rs) if the cost price is
Rs 75007?

TF THII 60% TF AT /A F AT ML 10% FE T HT 3. AfQ
ARTT G 7500 TIF g Y fasht =T (TaT /) 97T N2

OREN

(212800 ]

(3) 13800
(4) 10800




SSC CGL/CHSL TIER 2 (CRASH COURSE)
A batsman makes a score of 81 runs in the 16"
match and thus increases his average runs per
match by 3. what is the average after the 16" match?

TS goiaTo 169 A9 § 81 T T ThIT I9TAT g ML 39
YT Tfq A 3Eq T 3 q 92 S1ar g 16 AT F 1<
AT T 872

(1) 35
(2) 34
(3) 33




SSC CGL/CHSL TIER 2 (CRASH COURSE)

A vendor buys 12 bananas for Rs 60 and sells 5
bananas for Rs.32. What will be his gain (in%)?
T RFAT60 TR A 12 FA @lRaAr 2 X 32 T T 5
e SAAT gl SHHT ATH FIT T (W%)?

(2) 32
(3) 24
(4) 22




SSC CGL/CHSL TIER 2 (CRASH COURSE)
A compound interest earned in two years at 15% per

I annum is Rs. 20640. What is the sum invested(in Rs)
A a9 H 15% Tfaad Fit T F srfta Ishgfa saTsT 20640
&0 2| R Taferw=r e (Fa H)

(1)l64000 1
(2) 60000
(3) 56000
(4) 52000




SSC CGL/CHSL TIER 2 (CRASH COURSE)

If a3- b3=91 and a-b=1, then what is the value of ab?
Ife a3- b3=91 3NT a-b=1,dT ab FT HTH ATH FYL ?

(1) 27

£

(4) 30




@ SSC CGL/CHSL TIER 2 (CRASH COURSE)
15

cosa=ﬁ,

Cosec 6 =?

(2) g
%) 1—157
(4) =




SSC CGL/CHSL TIER 2 (CRASH COURSE)
hat is the area (in sq cm) of the rectangle if its

diagonal is 51 cm and one of its sides is 24 cm?
AT T AR (A3 QT J) AT g Tl 29T (A0 51
FHT g 3N 28 TeAT § § Th 24 FHT g2

(1) 540
2) 810
3) 1080

(4) 360




the value of V2 sec 45°+ (1 /+/3) tan 30

C SSC CGL/CHSL TIER 2 (CRASH COURSE)
what is
0 °=2

HTH AT Y ?

(a) (1+V/3)/2

b) (1+ 3v2)/v/3

(d) (3+2v2)/3V3




SSC CGL/CHSL TIER 2 (CRASH COURSE)
A man travelled a distance of 99 km in 9 hours. He travelled party on

foot@ 9 km/hr and party on bicycle @ 18 km/hr. What is the distance
(in kms) travelled on foot?

T T« 9 5 H/ 99 fFdt &t T a7 #inl 98 $8 4 AT AT FWT
9 faei/eeT & i Arsfarer aX 18 fHhHi/ser & FXaT g U ITAT 6l T4 =T

3?7

(a) 36

ibE o4

(d) 45




SSC CGL/CHSL TIER 2 (CRASH COURSE)
A bag has Rs.43 in the form of 5 rupee 50-paisa

2 and 10-paisa coins in the ratio of 1:5:11. What is
the total number of 50-paisa coins?

TH T H 5 9 50 49 3l 10 99 & AEHi & €T H 43
9 g1 50 U9 & (ARl 6T T &7 FT 872

C)E
[ (b) 25]

(c) 55

(d) 50




Q SSC CGL/CHSL TIER 2 ((1:RASH COURSE)
3 8X/3+[7(5-2x13))/2=,
X=7?

(a) -17

ibE o1

(d) 17
L T G A S B e N T A Y
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SSC CGL/CHSL TIER 2 (CRASH COURSE)

ALMN is right angled at M. If ~N=45°. What is the
length (in cm) of MN, if NL= 6v2 cm?

Pt LMN T gwahtor Bsgst 8 M 92, @101 N= 450
qr S(&IT MN it SaTs, JTa < I1< NL= 62 3+t § ?

(a) 3

(b) 4

(C) 2
_(d)6




SSC CGL/CHSL TIER 2 (CRASH COURSE)

5 The ratio of present ages of Rand S is 11:17.
Before 11 years the ratio of their ages was 11:20.
What is R’s present age (in years)?

R T9T S & AT SH T qaTa 11:17 g1 11 97 98
Il ST T ATATT 11:20 AT A7 R &t FqHTH ST (TS

| ?

. (5T
BDEE
(c) 22
(d) 40




SSC CGL/CHSL TIER 2 (CRASH COURSE)

6|6 6\/6\/6\/5 —9 =
\ a. 661

62

b. 64

58

C. 65

57

a. 656

v sy S A AE BN R B B D e R R



SSC CGL/CHSL TIER 2 (CRASH COURSE)

1 1 1
- —a
7 5.9 T 913 T 61.65

a =
35
oo dyayas S AVEE BNEE R B B e R




- SSC CGL/CHSL TIER 2 (CRASH COURSE)
What is the simplest value of

| 1 . oq 3
8 [1 F——7
1+ 1
3
Find the value of X.

n"‘-
POy N P




O SSC CGL/CHSL TIER 2 (CRASH COURSE)
Q 1.(987%7+37) +988

b. 24
A
d. 32




(i) SSC CGL/CHSL TIER 2 (CRASH COURSE)

0 Find the sum of the divisors of 18007
1800 F HTSTRI T TIT I L ?

b. 6028
c. 5040
d. 6500




